e W 2%

HMRV % ;:[ Y Haitec-GR®

i I

Dimensions

R

HMRV

127.5 [ 160 n 155
o 2525 . e |
I 148
3 17 1
I 0 - - /
/ & o
8-M10X18 ] o E o I
Dm 88 o
ANl v~ N| —
S = 2
/‘:
Input bore 1 _ =
i A AL ° 5
[te) e¢}
L > |9
14
115
144
HMRV. VS e
. ( w,ﬂ,//////%/lll/‘%
60 135
Lt ‘ @42 H8 o k=
‘ | T I a

8 I 1 ~
51@ T 7 ] Output bore
! i AL

@286
T ﬁj\
duy
Y
N

) Dm (H7)

%""’!;’? ("Ta) Mo P Emtm S T 5T 10 [15 20 25 | 30| 40 | 50 | 60 ] 80 100 Depth i
132B5 |9230|@265|@300| 10 |41.3|14| — |38*|38*|38*|38%| - - ol N - - - 80

100/112B5| 2180 | @215 @250 8 [31.3|@15| - |28 |28 |28 |28 |28 |28 |28 |28 (28| - | - 60
90B5 3130|2165 |@200| 8 |27.3{@11| - = | = | = - 2412424242424 24 50
80B5 2130|2165 |@200| 6 |21.8{F11| - = = | = = = = ~ | = - 119119 40
Weight : 40kg Note:(*)Low profile key supplied by Haitec.
HE : 40kg R AR LR

21



Ve YR
[T~ Haitec-G

@ I

éej
|

|
J170 H8

R o
HMRVZ#&7%!
Dimensions
RF
HRV.VS
142 60 60 135 142 80
o M10X24 8 M10X24 — i M10X24
| 4 = 1 © = © al = i o
( Z N\ S 7 % () | ﬁ
/A
@l N C) D .
m WA L\v\ N A )]
sl L e B H \\ \{}///
il [ (s m— —
Output shaft i H %l 249
324 M16X36
M16X36 8365 ag | M16X36 5 @
= === :
= o )
5 3
Output flange % Hi 7% =
| FA
131
15 _
6
260X260 /\
R140 R

22



